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NEW QUESTION 1
- (Exam Topic 1)
Which of the following statements about event types is true? (select all that apply)

A. Event types can be tagged.

B. Event types must include a time range,

C. Event types categorize events based on a search.

D. Event types can be a useful method for capturing and sharing knowledge.

Answer: AC

NEW QUESTION 2
- (Exam Topic 1)
Which of the following statements describe GET workflow actions?

A. GET workflow actions must be configured with POST arguments.

B. Configuration of GET workflow actions includes choosing a sourcetype.

C. Label names for GET workflow actions must include a field name surrounded by dollar signs.

D. GET workflow actions can be configured to open the URT link in the current window or in a new window

Answer: D

NEW QUESTION 3
- (Exam Topic 1)
Which of the following statements describes POST workflow actions?

A. POST workflow actions are always encrypted.

B. POST workflow actions cannot use field values in their URI.

C. POST workflow actions cannot be created on custom sourcetypes.

D. POST workflow actions can open a web page in either the same window or a new .

Answer: D

NEW QUESTION 4
- (Exam Topic 1)
Which of the following statements describes macros?

A. A macro is a reusable search string that must contain the full search.

B. A macro is a reusable search string that must have a fixed time range.

C. A macro Is a reusable search string that may have a flexible time range.

D. A macro Is a reusable search string that must contain only a portion of the search.

Answer: C

NEW QUESTION 5
- (Exam Topic 1)
Which one of the following statements about the search command is true?

A. It does not allow the use of wildcards.

B. It treats field values in a case-sensitive manner.

C. It can only be used at the beginning of the search pipeline.
D. It behaves exactly like search strings before the first pipe.

Answer: C

NEW QUESTION 6
- (Exam Topic 1)
Which of the following can be used with the eval command tostring function (select all that apply)

A. "hex”

B. “commas”
C. "Decimal”
D. “duration”

Answer: ABD

NEW QUESTION 7

- (Exam Topic 1)

The Field Extractor (FX) is used to extract a custom field. A report can be created using this custom field. The created report can then be shared with other people
in the organization. If another person in the organization runs the shared report and no results are returned, why might this be? (select all that apply)

A. Fast mode is enabled.

B. The dashboard is private.

C. The extraction is private

D. The person in the organization running the report does not have access to the index.
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Answer: BD

NEW QUESTION 8
- (Exam Topic 1)
How does a user display a chart in stack mode?

A. By using the stack command.

B. By turning on the Use Trellis Layout option.

C. By changing Stack Mode in the Format menu.

D. You cannot display a chart in stack mode, only a timechart.

Answer: C

NEW QUESTION 9
- (Exam Topic 1)
Which of the following statements about data models and pivot are true? (select all that apply)

A. They are both knowledge objects.
B. Data models are created out of datasets called pivots.
C. Pivot requires users to input SPL searches on data models.

D. Pivot allows the creation of data visualizations that present different aspects of a data model.

Answer: BD

NEW QUESTION 10
- (Exam Topic 1)
Which of the following are required to create a POST workflow action?

A. Label, URI, search string.

B. XMl attributes, URI, name.

C. Label, URI, post arguments.

D. URI, search string, time range picker.

Answer: B

NEW QUESTION 10
- (Exam Topic 1)
When using timechart, how many fields can be listed after a by clause? ( Choose Two )

A. because timechart doesn't support using a by clause.

B. because _time is already implied as the x-axis.

C. because one field would represent the x-axis and the other would represent the y-axis.
D. There is no limit specific to timechart.

Answer: BD

NEW QUESTION 14
- (Exam Topic 1)
Which of the following statements describe data model acceleration? (select all that apply)

A. Root events cannot be accelerated.
B. Accelerated data models cannot be edited.
C. Private data models cannot be accelerated.

D. You must have administrative permissions or the accelerate_dacamodel capability to accelerate a data model.

Answer: BCD

NEW QUESTION 17
- (Exam Topic 1)

When performing a regular expression (regex) field extraction using the Field Extractor (FX), what happens when the require option is used?

A. The regex can no longer be edited.

B. The field being extracted will be required for all future events.

C. The events without the required field will not display in searches.

D. Only events with the required string will be included in the extraction.

Answer: D

NEW QUESTION 19

- (Exam Topic 1)

What is required for a macro to accept three arguments?
A. The macro's name ends with (3).

B. The macro's name starts with (3).
C. The macro's argument count setting is 3 or more.
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D. Nothing, all macros can accept any number of arguments.

Answer: A

NEW QUESTION 23
- (Exam Topic 1)

When using the Field Extractor (FX), which of the following delimiters will work? (select all that apply)

A. Tabs
B. Pipes
C. Colons
D. Spaces

Answer: ABD

NEW QUESTION 27
- (Exam Topic 2)

Which of the following commands will show the maximum bytes?

A. sourcetype=access_* | maximum totals by bytes
B. sourcetype=access_* | avg (bytes)

C. sourcetype=access_* | stats max(bytes)

D. sourcetype=access_* | max(bytes)

Answer: C

NEW QUESTION 28
- (Exam Topic 2)

Which of the following search modes automatically returns all extracted fields in the fields sidebar?

A. Fast
B. Smart
C. Verbose

Answer: C

NEW QUESTION 32

- (Exam Topic 2)

Using the export function, you can export search results as
A. Xml

B. Json

C. Html

D. A php file

Answer: AB

NEW QUESTION 35
- (Exam Topic 2)
Which is not a comparison operator in Splunk

Answer: E

NEW QUESTION 36

The Leader of IT Certification

.( Select all that apply)

visit - https://www.certleader.com



CertLeader-m 100% Valid and Newest Version SPLK-1002 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/SPLK-1002-dumps.html (153 Q&AS)

Thank You for Trying Our Product

* 100% Pass or Money Back
All our products come with a 90-day Money Back Guarantee.
* One year free update
You can enjoy free update one year. 24x7 online support.
* Trusted by Millions
We currently serve more than 30,000,000 customers.
* Shop Securely

All transactions are protected by VeriSign!

100% Pass Your SPLK-1002 Exam with Our Prep MaterialsVia below:

https://www.certleader.com/SPL K -1002-dumyps.html

The Leader of IT Certification visit - https://www.certleader.com


https://www.certleader.com/SPLK-1002-dumps.html
http://www.tcpdf.org

